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The Arithmetic Mean (A.M.) and mode of the data are 32 and 26, respectively,
then find the median of the data.

@A) 12 i A ®) 30
<€ 6 5w ¢ D 29

Find out the modé frnm tﬂhé'fowllowing data :

100, 110, 125,225, 325, 125, 90, 80, 455, 375, 125
w1, . B 325
(C) 455 o (D) 125

Which one of the followmg is the absolute' measure of dlspersmn for open
ended distributions ? |
(A) Standard devi_ation .' ~ (B) Range

(C) Meandeviation . (D) ‘Qu.ar,tile deviation-

If the mean of the following frequency distribution is 2.6, then the value of Y

1S i |
Marks ()7~ 01 |2 |3 [ 4] 5]
| No. of Students (f) : 8|10 Y |2|4
(A) 6 i e (B) 16

(©): 26 1v vieie ont e Trie (@) 12

Which one of the fqilowing _measures‘ of. central tendency is bésed; on only
fifty percent (50%) of the central values 7 o
(A) Harmonic Mean . (B) Geometric Mean
(C) Median (D) Mode
| " NBD(H)
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NBD(H)
Two dice are thrown simultaneously. Fmd the probablht}’ that the sum of

digits on the two dice would be 8 or more.
5 ~ 5
(A) 13 _ 4 B) 13
5 . | P
© 36 |- R ) T
A number is selected from the ﬁrst 20 natural humbers, Find the probability

 that it would be divisible by 3 or 7. e
1 12 SINE e

sy av ® 20
24 i AN "
©) &7 o . (D) % i

A father had three sons namely, Kailash, Harish aid Prakash. All are above 65
years in age. Prakash happens to be the eldest while Kailash as youngest. As -
per the health history, it is estimated that the probablhty that Kallash survives

3 :
*another 5 years is T i, Harish survives another 5 years is 5 and Prakash surv1ves '

another 5 years is 5 The pro‘bablhtles that Kailash and Harlsh survive another

5 years is 0.46, Harlsh and Prakash survive another: 5 years is 0.32 and Kallashi
and Prakash survive another 5 years is 0.48. The probability that all three sons
survive another 5 years is 0.26. What shall be the probablhty that at least one

of them survives another 5 years‘7 SRS AR £l

(A) 072 vhra T (B) 078" " i
Yig e g

© 10 Ll R

- NBD(H)
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11.

12.

13.
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| NBD(H)
In a leap year, what is the probability that there will be 53 Sundays ?
1 53
(A) 7 B) 365
3 L
© 3 D) 2

Poisson probability distribution is apprepriately appiied in

(A) The distribution of passing of students in university examinations.
(B) The'height of students in the university. ‘ |
(C) Tossing of a coih hundred times.

(D) Number of deaths by a rare disease.

In a class, there are 15 boys and 10 gi‘rls Three students are selected at

- random. The probability that 1 girl and 2 boys are selected is

25 :
(A 33 S )
© 35 i '(D)%*- «

Two cards are drawn from a pack of 52 cards The probablllty that one is a
spade and one is a heart is T

129 K]
(A) 34 4 >_ b B) 20

\ 47 N ' 13
© 100 | (D) 102~

A prohlem i‘s given to 5 students P, Q,‘ R, S and T. If the probability of solving

1121 and é respectlvely, then find the

" the problem individually is 7, 3, 3, 5

probability that the problem is solved.
(A) 0.93 | (B) 047..
(C) 0.57 ; : (D) 0.27

NBD(H)
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15.

- 16.

17.

18.

G
| NBD(H)
The correlatnon co-efficient between X and Y i is 0.8. If we add a number 10 in
the X variable and subtracted 20 from Y varlable, then the new correlatlon
co-efficient will be ., _
(A) 0.6 L (B) 04
© 09 N (D) 0.8

When both the reg’ressior‘l' co-efficients are by bl 0.7 and by, = 0.8,
respectively, then correlation co-efficient between x and y is

(A) 0.56 B "~ (B) 0.75

©) 028 (D) 0.87

If the points of inflexion 6f a ﬁohnal curve are 6 and 14,‘ then standard
deviation of the distribution is
GV T e () L 4

(©:0M7 5 B8 e ) 32

~ What is the probability of makipg 3 .COifrecte_d guesses in 5 True-False answer

type questions ? _ : ‘
(A) 0.4156 - ; ' - (B) 03125
(C) 1.3888 (D) 0.5235

If 5% of the families in large population city do not use gas as a fuel, what will
be the probablllty of selectmg 10 families in a random sample of 100 families

“who do not use gas asa fuel ?

[Given that &5 = 0. 0067]

A) Zeo - (B) 0038
(©).0.018- 5 [inay (D) 0.048
| - NBDan
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- 20.

21,

22.

23.
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If £p,q, = 249, Epgd = 150, Zp,qp = 145 and Paasche’s Inde
then Fisher’s Ideal Price Index Number is : ' |
(A) 126.9 s "®B) 75
(C) 12062 (D) 171

x Number = 150,

From the following data, find out an Index fumber for 2022 taking 2021 as

‘base (using simple aggregative method) :

Commodities Price in 2021 Pﬁce in 2022
A 80 Co120
B 220 1200
, o 300 400
A) 120 (B) 100
(D) 190

(C) 108

‘Fc_)r 9 college students gr
History and Hindi marks
" correlation co-efficient ?

(A) 0.48.
©). 052

oup, the sum of s',quares'of differenées in ranks for

was found to be.62, then what is the value of rank

® 1
D) 087 -

Ifr=0.7, then co-efficient of non-determination is

(A) 051

(C) Zero

© yalue ofkis -

©)

(B) 0.49
(D) '0‘.71 |

‘ Given 0= 2y+ 4 and y = kx + 6 are the ,tWo _lihesf,of fégr_ession x.ony and
yonx respectively. If the value of correlation coefficient (r) is 0.5, then the

NBD(H)




24. From the following chain base index numbers based on 2015, find out new

25.

26.

(8)
NBD(H)

chain base index number for the year 2022 by shifting the base year 2019.

Years  : | 2015 | 2016 | 2017 | 2018 | 2019 | 2020 | 2021 | 2022
IndexNo.: | 100 | 105 | 95 | 85 | 120 | 110 | 130 | 150
(Base 2015) |

(A) 130 ) : (B) 125

() 100 (D) 150

The prices of a commodity in the years 2015 and 2020 were 50 and 60

respectively. Price relative of 201 5 on 2020 is

A) 110 (B) 100
(C) 8333 | (D) 120
Chain Index is equal to

_ link relative of previous year x chain index 6f current year
(A) 7 100 ~

link relative of current year x chain index of current year
(B) - 100 |

© link relative of current year x chain index of previous year
' 100

A link relative of previous year x chain index of previous year
100

NBD(H)
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28.

©)

NBD(H)
If 4% = 5Y = 207, then z is equal to
(xty) .
® " | B) xy
1 :
2 Y
© % O &+

If ¥ 58 is divided ar_n()hg 150_ch‘ildr'en,such‘ that each girl and each ‘boy gets
25 p and 50 p respectively. Then how many girls are there ?.

(A) 54 o (B) 52 -

"(C)68. ' o v(D‘)62'.

.29,

- 30.

31.

A startup business was iniﬁated by an gntrepréneur by“investing % 1,40,000.
His friend joined him after six months with an amount of ¥ 2,10,000.

‘Thereafter an angel investor joined them with ¥ 2,80,000 after another six
~months. What should be the ratio of distribution of total earnings, three years .

since beginning of business among entrepreneur, his friend and angel investor ?

(A) 12:15:16  © (B) 7:6:10

(C) 42:45:56. il (D)i2:3:4

The sum of th.ree'numbers is 98. If the ratio of the first to second number is

- 2:3 and that of the second to third is 5 :'8,‘ then the second number is

(A) 30 . (B) 20
(©) 48 s | A(D) 58

atb .1 ] . g B
Iflog = =—2'(loga+log b), thgn the value of b+aw1ll be .
(A) 14 e (BY 2
©) 16 _ (D) 8

NBD(H)
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- 33.

34.

35.

36.

(10)
; NBD(H) :
On solving the inequalities 6x +y 218, x +4y 2 12,2x +
following are corfect solutions 7
(A) (3,0),(0,3), (4,2)and (7,6)
(B) (0, 18),(12,0), (4,2)and (2, 6)

() (5,0),(0, 10), (2, 4) and (2, 6)

(D) (0, 18), (12, 0), (4, 2) and (0, 7)

The longest side of a triangle is 2 times the shortest side and the third side is
4 cm shorter than the longest side. If the perimeter of the triangle is at least
61 cm, find the minimum length of the shortest side. |

(A) 9cm DT (B) 7cm

(C) 1lem (D) 13 cm

Puru gets on the elevator at the 11% floor of a building and rides up at the rate
of 57 floors per minute. At the same time, Ishu gets on an elevator at the 51°
floor of the same building and rides down at the rate of 63 floors per minute. If
they continue travelling at these rates, then at which floor will their paths cross ?
@A) 19 . ®) 17 |

© 27 - . (D) 30

The quadratic equation 2x2 — \f5x+1=0 haé |
(A) Two equal real roots - ~ (B) Two distinct real roots -

(C) No real roots e - (D) More than two real roots

For equation x3.— 6x% + 5x + 12 = 0, the product of two roots is 12. Which of
the following is correct set of roots of the equation ?

(A) 1,6,2 ' - ®) 1,-3,4
(C) _1’3,4 (D) —1;—6,—2 g
NBD(H)

y 2.10; which of the
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38.

39.

- 40.

41.

an

" NBD(H)
The compound interest on a certain sum for. 2 years at 10% per annum is
% 525. The simple mterest on the same sum for double the time at half the rate

percent per annum is

w0 ®) 400
(©) 600 i st (D), X800

Find the future value of an mvestment of X 7, 000 compounded quarterly at
10% per annum for 3 years [leen that (l 025)12 =1. 34489] '
(A) TT43573: v gs i (B) T9,41420-7 0
©) ?..7,941.42 e L (D)e 800000 :

A sum of X 725 is lent in the beglnnlng of a year at a certain rate of simple

" interest. After 8 months, a sum of ¥ 362.50 more is lent but at the rate twice

the former. At the end of the year, ¥ 33.50 is earned as mterest from both the

: loans. What was the onglnal rate of interest. ?

(A) 4.54% . hs sk (BY  306%
(C) 53.46%. v FHE (D) 4.12% -

There is 60% }increa}se, in emount in 6 years at simple;interest. What will be the
compound interest_of 4 12},(.)0’0 aﬁer three years at the same rate ? £
(AY:T 33120 2T M 2 LT L (BY AT 2,160 N U
(c) z3,972 i p o LT (D) 6,240

_The effectlve annual rate of interest correspondmg toa nommal rate of 6% per

annum payable half—yearly is

(A) 6073 T T T (B) T 6i06%
(C) 6.08% _ | _‘ - (D) 6.09%
" NBD®)
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42.

- 43.

44.

45.

46.

~ (A) Effective rate > Nominal rgte

. became T 25,000. If CAGR for this investme

(12)
'NBD(H)

Relationship between annual nominal rate of intere:’; g
of interest, if frequency of cpmpoundmg is greatgrt an on

and annual effective rate

o
(B) Effective rate < Nominal rate |

(C) Effective rate = Nominal rate ‘

(D) Effective rate = 0.9 times Nominal rate

Médhli invests ¥ 15,000 in'a scheme and at the time of maturity the amount

nt is 8.88%, calculate the

approximate number of years for which she has invested the amount.
[Given that log(1.667) = 0.2219 and log(1.089) = 0.037]

(A) 7.7years =~ - (B) byears

(C) 5.5years | (D) 7 years

Raju will pay instalments of ¥ 3,150‘ per month for the next 3 years towards

his loan at an interest rate 12.4%, discounted monthly, what was the

- approximate amount of loan taken initially ?
_[Given'that (1.01033Y36=1.448] ~ $05
(A) 2974229 . . . (B) ¥13,683.60

(©) 79434517 (D) ¥74,158.24

Shiv deposits T 10,000 aijnually in a bank for 5 years, at 10 per.c'ent annual
,com_pounding interest rate. Calculate the approximate value of this series of
~ deposits at the end of five years, if each deposit. occurs at the beginning of the
“year. ' : T " -

(A) TETIS6 . (B) 61,050

@m0 T

If you deposit 4,000 into an account paying 6% annual interest compounded |
quarterly, how much approximate money will be in the account after 5 fyears 9.
[Given that (1.015)%0 = 1.34489] | ' : -

(A) 7438742 L (B) %3387.42
(C) T5387.42° /" ~» (D) T6387.42
| o . NBDE) .
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48.

49,

50.

- (13)
 NBD(H)

A project is expected to provide cash inflows as follows for 3 y'ears Ly e

Year P LTk 3 :
Cash Inflows (%) : 40,000 50,000 30,000

The company’s cost of caprtal or requlred rate of retum is 15%. What i 1s the’
present value of cash inflows of the company ' | ki

() 71,2840 o (B) 299240
© 2 12640 D) T92315
How much approximate amount should you save annually to accumulate .
¥20,00, 000 by the end of 12 years if the savmg earns an interest of 14 percent
compound annually 2 e i
[Given that (1. 14)12 4 8179] i
(A) ¥523848  (B) T415118
¢ (C). BT3339 A D) 111,200
Dinesh received.a»c.ash'honus of ¥ 1,00, OOO Which»he deposited in a bank o
which pays 10 percent mterest compounded annually How much approxunate .
equal amount can Dinesh withdraw annually for a perrod of 10 years y/
[Given that (1.1)10 = 2.59374] _ |
A) §38554 . . ® 716,273
© TeaMs (D) 332474
Frnd the approxrmate future value of an annuity due of T 500 pet quarter for 8

years and 9 months at the interest rate of 6% compounded quarterly.

[Given that (1. 015)35 = 1. 6839] |
A) 72022833 © . (B) T13,74086
(C) T56,971.95 (D) ¥22,796.66

NBD(H)
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S2.

S3.

54.

SS.

56.

~In how many ways can this be done i

©

(14)

NBD(H) 43
nd 3 women,
A team of 3 persons is to be constltut:g]:fsznzeai would consist of 1 man and

2 women ? . . -
(A) 6 -(B) 10
€) 16 (D) .8 :

- S e T
Find the sum of n terms of the A.P., whose nth term is 5@

@ 2 G ey |
i) ‘ 7+ 4n
o Mg o 5

21
The sum of first three terms of a G.P. is % and their product is 27. Which of
the following is not a term of the G.P., if the numbers are positive ?

(A) ®) 3

W WD

(D) 6

In how many of distinct permutations of the letters in “MISSISSIPPI” when
four I’s do not come together ?

(A) 40320 , (B) 34650
(C) 840 ' . (D) 33810

Out of 7 cohsdnants and 4 vovyéls, how many words of 3 consonants and
2 vowels can be formed ? .

(41050 5 | B) 210
(€) . 20200 (D) 21400
Seema, Bharati, Priyanka, Khusboo and Lalita are 5

f
ways in which Seema will always speak before Bhar sheakers, The Ilmber

T ati shall be
(A) 4!x2! (B) 24 i
© 3 D) 12

' NBD(H)
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(15)
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57. IfA={12,3,4},B= {2 46,8} and C= (3,4,5, 6}, the value of A— {B U C)
is . | . |
L) 23,45 il (B) 1,2,3}
© {1 el O
58 The range of the function f(x)$3x—2' s Tty e ,
CWR-GE ® (=
© =0 . D0
/ (x ‘2)5'.—»8}»
}Flnd the value of x11_r)“4 [eEra |
(A 2 | . ® 0.
(© 81w Tl -(D)‘é'
~ 60.. Insert 4 ‘numbers between 2 ‘and 22 such that the resultmg sequence is an
Arlthmetlc Progression’ (AP) : i ' <ok
" (A) 5,9,13,17 . i (B) 4,8, 12, 16
(C) 4,10,15,19 S (D) 46,.10, 14, 18
- . ., 11 - LA
61. Find the sum of series L +5+5+ oo ‘ ru_pto_6terms.\_ :
A g £ (B) ianins
(©) i saitr, Sl T 1 (D)nog
62. Whlch of the followmg relatlons is transmve but not reﬂexlve for the set

= (3,4,6}.7

(A) R = {(1, ), L 3),<1 ) (B)\R‘—‘,f{(‘3,4),'(4,‘6),(3,6)}

©) R={G, 3) (4,4), (6, 6)} (D) R={(3,4),(4,3)}

e 0)
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64.
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" 66.

i 67.

- 68..

(16)
NBD(H)

What is the differential functlon of \/—(x—z—';)-_) ?

de B) G2 +2)dx

(A) x2 =
: _‘ X dx
©) = dx - D) N2 +2

Identify the next number in the following series :
2, 8,26, 62, 122 212
(A) 338 | (B) 332

(C) 356 v (D)’ 362

Find the miSsing nurhbpr in the given series :
4,18, ' ,100, 180, 294, 448

HA) 52 (B) 48
(€):36: "y s i (D) 64
X ‘ 4 .
Evaluate : J (3x —2)? dx.
AN ~
(@A w0 - (B) 104
(S ECTRREIS N G (D) 52

Determine f(x), given that f f'(x) = 12x2 — 4x and f(-3)=17

A) f)=6x2-x*+137 (B) fx)=4x3—2x2+ 143
(©) \f‘(x)=3x4—x3— 137 (D) ) =4x3-2x2_ 143
t+ S t At
‘Fmd—X where x == andy—e 2e
. £ . =0kt ' H Srena X
A o | - ®
R g 1
© = , ®) &

NBD(H)
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70.

7L

72.

73.

(17)
NBD(H)

‘A man is facing North-West. He turns 90° in the clockwise direction, then

180°. in the anticlockwise direction and then another 90° in the'same direction.
Which direction is he facing now ?

(A) South-West o (B) South

(C) South-East ‘ : (D) East.

Rajni walked 20 m towards the North. Then she tumed right and walks 30 m.
Then she turns right and walks 35 m. Then she tums left and walks 15 m.
Finally she turns left and walks 15 m. In which direction and how many
meters is she from the starting position ? | : |
(A) 30 mEBast (B) 15m West
(C) 30 m West - o (D) 45m East

Find the odd man out from the following

445,221, 109, 46,25, 11,4
(A) 46 U @) 25 _
© 109 . ) 221 - | -

In a certain code ‘CH4IR” is wrltten as “GLSMV” How 1s “1N5T4GR4M” is

written in that code ?

. (A) 4P8W7IUSO " (B) -4HFID8E8N
(C) SRIXEKVEQ (D) SKF2EAGR4
A certain code “564” means “a]l the best”, “736” means “best of luck” and
«423” means “all is luck”. Which of the following is the code for “luck” ?
A) 4 ®) 6
© 3 D) 7

NBD(H)
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7S.

76.

77.

(18)

NBD(H)
Seven persons namely H, I, J, K, M, N, O are S |
North direction. Total three number of persons are sitting between'H and N,
Both N and H sits at extreme sides. Total two number of persons sit bejtween
H and O. M is not an immediate neighbour of H or N. I sits third to t?le rlghj( of
M. I and H both are not an immediate neighbours. M is also not an lmmedlate_
neighbour of J. Who is sitting between H and M 7 '
@“ o - - ®
C).X - &rsheds ol L (D) K

itting in a straight line facing

At a crossing, there was a direction pole, which was showing all the four
correct directions. But due to the wind, it turns in such a manner that now
West pointer is show'ing South. Harish went m the wrong direction thinking
that he was travelling East. In which direction he was actually travelling ?

(A) North - (B) South

(©) West ~ | " (D) East

Two cars start from the opposite places on a highway, 150 km apart. First car
runs for 25 km and takes a right turn and then runs 15 km. It then turns left
and then runs for another 25 km and then takes the direction back to reach the

main road. In the mean time, due to minor break down the other car has run

only 35 km along the main road. What would be the distance between two cars

at this point ? 6 '
(A) 75 km. - .. (B) 65km.

(©) 80km. : - (D) 85km.

Some boys are sitting in three rows all facing North such | th'a.t A‘ 1575 e
middle row. P is just to the right of A but in the same row. Q is just beh.ind of
P, while R is in the North of A. In which direction of R ig Q?

(A) South-West (B) South
(C) North-East , (D) South-East

NBD(H)
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79.

(19)
NBD(H)

Six friends P, Q, R, S, T and U aré sitting around the hexagonal table each at
one corner and are facing the centre of the hexagonal. P is second to the left of
U.Qis nelghbour of Rand S. Tis second to the left of S

Which one is sitting opp031te toP? ‘
A). Qe ko (BYCR
©'T oy

A B, C D and E are s1tt1ng ona bench A is s1tt1ng néxt to B C is s1tt1ng next

. to D, D is not s1tt1ng with E who 1s on the left end of the bench: C is on the

second position from the rlght A is to the right of B and E. A and C are sitting
together. In what posmon Ais 51tt1ng ?

(A) Between B and G ~(B) Between B and D-

©) BetWeenEand'D g (D) BetweenCandE |

80.

81.

Ina class, there are seven students (mcludmg boys and glrls) A, B C,D,E, F
and G They 51t on three benches I, II and IT1, such that atleast two students on
~each bench_and atleast one girl on each bench. C who is a girl student, does ‘
not sit with A, E and D F the boy student sits with only B. A sits on the bench .
I with his best friends. G sits on the bench IIL. E is the brother of C."

Which of the followmg is the group of girls'?
(A) BFC. . .. . - (B) BCG

. (©)-BCD = . . (D) CDF .

Five boys A, B, C, D and E are sitting in a row. A s to the right of B and E is

" to the left of B but to the right of C. A is to the left of D. Who is second from

theleftend? .- . Pl
AYEA S T B) D
©B € . . OE

NBD(H)
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84,

8S.

86.

(20)
NBD(H)

Q' W, E, R, T and Y are members of a family consisting of; two chi.ldrcn, One
of whom is T is a boy. Q and R are brothers and Qisan eng‘mccr.lE 18 a doctgy
married to one of the brothers. W is married to R, and Y is their only chijg,
How T is related to Q ?
(A) Brother : (B) Father
(C) Nephew " (D) Son

K is the son of A’s mother’s sister. Q is daughter of D, who is the father of G
and grandfather of A. P is the daughter of H, who is grandmother of K. p i
husband of H and G is husband of L. How is P related to‘Q ?

(A) Sister " (B) Mother
(C) Daughter (D) Cousin

If“A # B” means A is father of B, “A » B” means A is brother of B.’ “A @B”
means A is mother of B, then which of the following is correct about G @T#P?

" (A) Pisfatherof T, . - (B) G is mother of P,

(C) TissonofG. (D) Pis brother of T,

Pointing iQ a photograph, Rajesh said, “He is Aarav and he is the son of the
only daughter of the father of my brother”, how Rajesh is related to the Aarav
referred in the photograph ?

(A) Brother (B) Nephew

(C) Father - (D) Maternal Uncle

Study the following information carefully ;

®  A3P means A is the mother of P,

®  A4P means A is the brother of P,

®  A9P means A is the husband of P,

e  AS5P means A is the daughter of P,

Which bf the following means that K is the mother-in-Jqw of M ?

(A) MIYN5K3J (B) M9IN3K4)
(C) K5J9M3N (D) K3J9Nam
NBD(H)



87.

‘88.

89.

90.

21)
. NBD(H)

The following data relate to the wages of a group of'workérs :

Wages (in‘() : | Below'100 | Below 200 | Below 300 | Below 400

| No. of workers : 157 38 65 90
How many workers got wages more than ¥ 300 ?
(A) 65 (B) 25

(© 90 S (DY 27

The mode of a continuous frequency distribution can be determined
graphically from | |

(A) By using frequency polygon

(B) By using Histogram

(C) By using ogive

(D) By using frequency curve

Frequency density corresponding to a class interval for the continuous

frequency dis’tribﬁtio_n, is the ratio of

: (A) class frequency to the class length

B) class'frequenc':y to the total frequency
(C) class length to the class frequency

| (D) class freqilency to the cumulative frequency

The curve obtained by joining the points, whose’ X co-ordinates are the upper
limits of the class intervals and Y co-ordinates are corresponding cumulative
frequencies, is called" Yoy '
(A) Histogram ~(B) Ogive
(C) Frequency polygon (D) Frequency curve

NBD(H)
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A ffequency curve which starts with a minimum frequency and then gradually
reaches its maximum frequency at the other extremity is known as
(A) Mixed curve S (B) Bell shaped curve
(C) U-shaped curve ' (D) * J-shaped curve |

The law of statistical regularity says that ' e
(A) A large sample drawn at random from the populetion would possess the

characteristics of the population..

(B) Sample drawn from the population under ~discussion possesses the

. characteristics of population.

(C) A large sample drawn at random from the population would possess the |

characteristics of the populatlon on an average.

(D) An optimum level of efficiency can be attained at a minimum cost.

A populatlon comprises 5 members. The number of p0551b1e samples of size 2,
that can be drawn from it with replacement is

(A 15 S (®) 100

- (C) 125 g . (D) 25

Which of the followmg statements about simple random samplmg 1s NOT true ?

(A) In simple random samplmg with replacement, each selected unit is
replaced to the population before the next umt is drawn.

(B) Simple random sampling ensures that each unit in the populatlon has an
“equal chance of being selected. . | ¥

(C) Simple random samplmg is hlghly effective when the populatlon is very
large and heterogeneous. :

(D) In a simple random sampling without replacement, a unit is selected, it

. will never be selected again.

NBD(H)
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Which of the followmg isnot a method of dispersion ?

(A) Mean deviation e ; (B) Standard deviation

(C) Range - 3 b (D) Concurrent deviation method |

Find out co-efficient of varlatlon ifN =14, Efv 280 and c(S D.)=3.

A) 15 DU Tt @y 0
(C) 4.67 s i i (D) Zero.

The monthly profit/loss for six months of the firm is as under : - -

|Months - : | January February | March | April | May | June
Profitfloss (in ©): | 1,000 | 900 | 0 [-200 | 400 | 2,000
The co-efficient range of the above data is

(A) 150 Ll B 122

(C) 33.33 i (D) 15555

In tabulatlon source. of data, 1f any, 1s shown in the
(A) Body . ) (B) Footnote
(€) . Stub EE i (D) Caption

A 'helicop'ter flies from A to B at4the rate of 500 km/hr. and comes back at the
rate 700 km/hr. The average speed of the helicopter is -

(A) 583.33 km/hr. - Y(B) 1600 km/hr.

©) 100\/— km/hr. A (D) 620‘km/hr. i

If Anthmetlc Mean (A M:) and Geometrlc Mean (G,M.) of two numbers are
6. 50 and 6 respectlvely, then the two numbers are.

(A) 9and4 ., . (B) 6and7

© 10amd3 (D) 8andS

NBD(H)
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